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QUESTION 1

You are responsible for sending the deployment package to the customer. You are required to build your solution to
work with the test and production HR systems. The customer only wants to create one solution that can work with both
environments.

How do you fulfill this request?

A. Add two adapters to the HR Project: One adapter for production and one adapter for test.

B. Add two configuration files to the HR System project: One configuration file for production and one for test.

C. Add one configuration file to the HR System project; the configuration file contains the production and test details.

D. Add two projects to the solution: One project for production and one project for test.

Correct Answer: B

QUESTION 2

An automation requires the web adapter to attach to a running instance of Internet Explorer. How do you achieve this
requirement?

A. Configure the Universal Web adapter and set the StartMethod property to MonitorAll.
B. Configure the web adapter and set the StartMethod property to MonitorAll.

C. Configure the web adapter and set the StartMehod property to Attach.

D. The web adapter cannot connect to a running instance.

Correct Answer: B

Reference: https://communityl.pega.com/community/product-support/question/robotics-web-adapter-how-attach-web-
adapter-existing-website

QUESTION 3

The following Context variables are defined in the Interaction.xml of the solution.

<Context>
<Value Name="GroupID” Type="String” Default="XKY12345”/>
<Value Name="‘Procedures” Type="“Number’ Default="0"/>
<Value Name="HasBeenPaid” Type="Boolean” Default="false”/>
</Context>
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An automation creates an interaction and later sets the following values for Procedures and HasBeenPaid.

When the agent finishes the call, an automation clears the context variables using ClearContext.

. IMgr
ClearContext

@@= Key
-~ Value

What is the state of the HasBeenPaid variable at this point?
A. The value of HasBeenPaid is now True.

B. The value of HasBeenPaid is now False.

C. The value of HasBeenPaid is how null.

Correct Answer: B

QUESTION 4
Select two statements that correctly describe adapters. (Choose two.)

A. Adapters have accessible properties, methods, and events that launch, monitor, and expose enterprise applications
for automation.

B. An adapter allows users to integrate with an application built on a specific platform.
C. An adapter orchestrates the deployment of a robotic solution and monitors the robots of the robot worker pool.

D. An adapter integrates with Windows applications by using a self-hosted REST service through application
JavaScript.

Correct Answer: AB

Reference: https://communityl.pega.com/community/product-support/question/adapter-pega-robotics

QUESTION 5

In an automation that contains an ExcelRange component, you make a change to the data within the range, and you
want to save those changes to the Excel file on disk. Which of the following statements is valid?

A. Call the Commit method of ExcelRange component and then Save on the ExcelConnector.
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B. The changes save to the Excel file automatically.

C. Call the Commit method of the ExcelConnector and reload the Excel file.
D. Call the Save method of ExcelConnector and reset the state of Excel file.
Correct Answer: C

Reference: http://help.openspan.com/80/Components/Creating_a_Range_Object.htm
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